MOLTIPLICAZIONI PER 10 - 100 - 1.000

1) Calcola a mente:

7 x 1.000 =

0,9 x 1.000 =
68,4 x 10 =
68,7 x 10 =
54,1 x 100 =
85,6 x 10 =
599,36 x 10 =
98,5 x 100 =
36,852 x 10 =
0,9 x 1.000 =

2) Calcola a mente

0,842 x 1.000 =
5835 x 10 =
378,01 x10 =
0,8 x 1.000 =
512,37 x 10 =
0,57 x 1.000 =
45,83 x 10 =
1411 x 10 =
79,074 x 10 =
0,7 x 1.000 =




MOLTIPLICAZIONI PER 10 - 100 - 1.000

1) Calcola a mente:
415x10 =
962,1x 10 =
58,29 x 10 =
49,38 x 100 =
90,656 x 100 =
0,7 x 1.000 =
15,366 x 100 =
545,162 x 10 =
697,418 x 10 =
53,2 x 100 =

2) Calcola a mente

525,16 x 10 =
0,658 x 1.000 =
478,18 x 10 =
87,363 x 10 =
78,3 x 100 =
69,13 x 100 =
480,6 x 100 =
82,01 x10 =
5x100 =

49,31 x10 =
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